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ACIO Grade Il Executive 19th Feb 2021

[Participant ID
[Participant Name

Test Center

Name

Test Date 19/02/2021

Test Time : 3:00 PM - 4:00 PM
Subject ACIO Grade Il (Executive)

Section : General awareness Current Affairs

Q.1 Consider the following statements about Bharat Ratna.

(1) Nanaji Deshmukh received this award in 2019.
(2) Nanaji Deshmukh received this award for his work in the field of Art and Literature.

Which of the statements given above is/are correct?
Ans « 1.1 only

#5 2. Neither 1 nor 2
/< 3.Both 1and 2

x 4. 2 only

Question ID : 6009293765
Status : Answered
Chosen Option : 1

Q2 2020 % fagR Ry IM @ F IR A FaffRad s/ AsETaa e/ 82

(A) 39 919 ¥ PN SIaifae Tedy 125 faffea fauraet (MLA) & a1y s & wu A
JWRTI

(B) HETTSEE A 110 IWE Sit
(c) faora TuR Rieg1 3 fagR faumRIyT &7 =17 sreger g |
(D) faER ®! e sroRedl faur GUT &1 HRIGTA 29 SFgar 2020 H JUT g3

Ans  of 1 A BERC
/5 2.B,C3RD
/5 3.A,B3IRD
X 4.ADSRC

Question ID : 6009293769
Status : Not Answered
Chosen Option : --

Q.3 iy, ggeTar ok AT Hearor U gR1 3= B 78 wurE fram s Al
Qe F IR A AT I P I/ APYTIA e/ 82

(1) T8 1.12.2017 | 3ARY 81 718 A

(2) werE= fram W AR T S & &) aien 8 o URa e | 100% R
TYor U7 gl 8

Ans o 1 Haa2
X 2.1 9R 23
53 AdM SIRAT 2
75 4. Bad 1

Question ID : 6009293767
Status : Not Answered
Chosen Option : --



Adda247
Stamp


2/24/2021

Q.4 ST 2021 H EIAE B TS GIUI BT ICC (SR e An I & gaR Fafafea
fopdpe S P 3raRIE! HH H afeyd BIfvg|

A, WRd
B. oitcis
e
Ans &1 AB,D,C
o 28AcCD
/X 3.D,BAC

/< 4.D,B,C,A

Question ID : 6009293771
Status : Not Answered
Chosen Option : --

Q.5 3 | f AT WS BISSIF, JUAT BT e Frgaa fear mar 22
Ans B 1 IqREH derTH!

o 2. S daEE

5 3. %7y, IgHTyaH

X 4.9 Sge

Question ID : 6009293763
Status : Not Answered
Chosen Option : --

Q.6 Which country launched its first ever military communications satellite in July 2020?
Ans X 1 France

X 2. Nepal
X 3. Japan

J 4. South Korea

Question ID : 6009293759
Status : Not Answered
Chosen Option : --
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Ans

T 3o Flaw

g -1 (Fe) T -2 (3
A. &R 1. 9=

B. SAP 2. A

C. &ae 3. gfaror SAifr
D. dzweT 4. F9I

o 1.A-1,B-2,C-4,D3
/5 2.A1,B-4,C-3,D-2
/< 3.A-4,B-2,C-3,D-1

5 4.A-2,B-1,C-3, D-4

Q7 Er -1 3R Eh -2 W e Afaw A3 @ & 9 i T 18 (code) T IEET F

Question ID : 6009293770
Status : Answered
Chosen Option : 1

Ans

Q.8 Wing Commander Gajanand Yadava was awarded the 'Tenzing Norgay National

Adventure Award 2019’ in:
X 1. Water adventure category

J 2. Air adventure category
x 3. Land adventure category

X 4. Lifetime achievement category

Question ID : 6009293761
Status : Answered
Chosen Option : 2

Q.9
Ans

T § BI- YRA &) T2 91 foaeh 82
F R

o 2 i s
75 3. B TSl SSfdT
75 4. ST Waed

Question ID : 6009293758
Status : Not Answered
Chosen Option : --

Ans

TS (NSG) FT HeT-eRI frgea fomar ur?
v 1. o TR i
5 2. 3o wia fay
25 3. it X HeATR
/< 4. TaY. SR

Q.10 3fagav 2019 #, YUTHA Tt 3R[aTS arelt wikwsa 3 Frgfe afafr 3 frd wdta wran

Question ID : 6009293764
Status : Answered
Chosen Option : 4
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Ans  of 1. sifoRer s 3G
25 2. ST g
75 3. i IR
5 4. firee e

Q.11 7g 2020 ¥ g fFa AT TR & ASTATH Ty 3R MSTATH TR A AT Foran 412

Question ID : 6009293756
Status : Not Answered
Chosen Option : --

Q12 = - | & & - Il & e fifaw 3k g F @° Re e g2 o

FTeh TEl 3ol & I HIST:

T - | (FHE wean) T - |l (77T FI Fren safad /

waifta &3 aren =afFa)

A. 1981 TE.#.3Y. (SCO) TWFR & 1. JuTHAS A%F Ay
wopa # afteg w1 Rrew we

(TH.3.30, FERT HH FIH AHH

TEAHE WIPAT)

B. 7af SRS, AT |2 iy wum

w7 A= (IEF-IGU AR 39

HIH)

C. 1457 T .vA.TA. (ADMM) =5 |® 3. ey fEE

ez 2020

D. 637 SRI-=T9T T9IE F=pT

4. TH. FHTT ATE

%

@A B C D
1 4 2 3

A B C D
4 2 3 1

©A B C D

@A B C D

Ans X 1c
& 2.d
o 3b
K 4a

Question ID : 6009293773
Status : Not Answered
Chosen Option : --
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Q.13 T 2019 ® T & i tRiTwine Id Aearge gRT f$d TaaAe (qenme) 3t S

Ans

P 7S B N1 MR WTd 3R gt & i #1872

< 1.198-59¢
#5 2.198-59d
/5 3.L98-5%

o 4. 19859

Question ID : 6009293760
Status : Not Answered
Chosen Option : --

Ans

List-1 (Name of Government Scheme)

List-2 (Related Ministry)

A. The Venture Capital Assistance
Scheme

1. Ministry Of Electronics &
Information Technology

B. Support for International Patent
Protection in Electronics and &
Information Technology (SIP-EIT)

2. Ministry of Micro Small & Medium
Enterprises

C. Single Point Registration Scheme

3. Ministry of Agriculture and Farmers
Welfare

5 1.A-2,B-3, C-1
/5 2.A-2,B-1,C3
/5 3.A-1,B-2,C3

o 4.A3B-1,C2

Q.14 Match List-1 with list List-2and select the correct answer by using the code given below the list.

Question ID : 6009293772
Status : Answered
Chosen Option : 2

Ans

Q.15 JFUrScel » TR A FHff@d A A ST a1/ A HYTTA /22

(1) T8 fayfaenea # srwraa & §RM if@a YR faendf uug (ABVP) & Waw A
(2) ST 2015 | 2018 TP YRd THR P faw 3T BIURE ATl & T & 9 d H1H

o um
25 1. Faq2

o 2 Fad 1
X 3.1 9R23A
S 4AqMeIRAT 2

Question ID : 6009293766
Status : Not Answered
Chosen Option : --
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Ans

Q.16 21 FEY 2021 Y, AT (NASA) 7 faxmasra Nawdt Wg Fawel & Wie! urgn f$ul 39
TR P oy # frAfafad # @ $19 91 $Y= Tad 82

1. U% TR gAC FALEY DY ST [RTT 9T fiar ARt Fawex g1

2. 3 TN BT ¥ TId 370 (Abell 370) § 3R SHS! Ugel IR WieT 2002 H ARFT g1

T TN HYP B TS A

3. U8 FoRex gt & 4.9 FAftrae yeprwr-ad ot g8 W Wew (Cetus) aRTHST A fR@A 71

1= 3T 71T He BT UahT HRP TE IR FT 99 PIoe|

(a) Pad 1
(b) Fad 2
(c) 1 3R 2 Y
(d) 2 3 3 @Y

W ia
x2.c
5 3.d
&4

Question ID : 6009293774
Status : Not Answered
Chosen Option : --

Ans

TEr 3R AT

T -1 P W ATH T -2 IFds @ AR
A. SFEg 1. &

B. = dee Tl 2. =gEar

C. sw9rar =)oT FAT 3. Frermm

D. g wIEaar 4. TS g

o 1.A1,B-2,C-3,D4
5 2.A-1,B-2, C4,D-3
/< 3.A-2,B-1,C-3,D4

/5 4.A-4,B-2,C-3,D-1

Q17 = -1 3k g -2 1 Raw Hfaw 3 G F I R’e v FF (code) F 3TTRT FH

Question ID : 6009293768
Status : Answered
Chosen Option : 1

Ans

Q.18 378 A B 2019 F TGS AN MY Siex TsdiPbe REPR 1 T faotar 82

x 1. ﬁsﬁmuﬁm (Seitebatso Pearl Block)

x 2. A3 SRAT ZTehT (AichatouOusmanelssaka)

#% 3. AR T$S 1T (Marcia Andrade Braga)

J 4. gH TG (Suman Gawani)

Question ID : 6009293755
Status : Not Answered
Chosen Option : --
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Q.19 | UTAdT URI&T (Common Eligibility Test) $R14 & forg Fsita wiiwsa = gy wdf
TSt (National Recruitment Agency) @1 RITIHT B & Hedl &2

Ans 3" 1.01 37Ud 2020
W 2. 19 3T 2020

#% 3,09 s 2020
5 4,019 2020

Question ID : 6009293762
Status : Not Answered
Chosen Option : --

Q.20 379 | I U3 ff RESR | TG 7, B WRa § Y aoie 3 wigpfae Qe 31 agrar
P F I T & forg ST SITar 32

Ans 3 1. e T A
X 2. gy ¥
o 3. g TEER
75 4. g e Ta.Ta.

Question ID : 6009293757
Status : Not Answered
Chosen Option : --

Section : General studies

Q1 Barew ¥ gey § AT sy W RER &1

1. fearo sRa &1 STeEg F SIET F H g AgcaqUl SHST ST g
2. fewrem Tiea afafafaat & R sugea 7 &

3. feareT 9aa qumeh #= Afedr = w1

4. fgwrerm & #% o TEs A @ B

F9 T 7T FuAt H T FiT G/ T e
Ans x1_ 2 .}ﬁ_{_ 3

V2133

X3 q13r4

X 4 Faer 2

Question ID : 6009293789
Status : Answered
Chosen Option : 2

Q.2 fgfafeaa & @ Py et «1 agfHe am Saani= 82
Ans x1_c

W 2812

/5 3.B3

/S 4D

Question ID : 6009293783
Status : Answered
Chosen Option : 2
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Q.3 Where is the headquarters of Confederation of Indian Industry (Cll) is located?
Ans 5 1_Chennai

75 2. Kolkata

o 3. New Delhi
5 4. Mumbai

Question ID : 6009293779
Status : Answered
Chosen Option : 3

Q4 AR RST weifRae?

Ans & 1 gRTOR

X 2.%6R

W 3. sEEEe

Xag

Question ID : 6009293782
Status : Answered
Chosen Option : 3
Qs P TITIAT 1964 F YRAT Rord S 3 i Wil arelt werae uit & &u i
e & U FITEH & dgd o1 1 A1

Ans X' 1§ it SSIaT
o 2. R s faer 3%
25 3. URdg e 8% (T S i 3feam)
X 4. 9a S offp e

Question ID : 6009293775
Status : Not Answered
Chosen Option : --

Q.6 afeaTg ¥ Yefiwe & Afcgan fea o1 FAmior e sarar ar?
Ans x 1. 3T

o 25T

X 3.%d

X 4. e

Question ID : 6009293777
Status : Not Answered
Chosen Option : --
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Q.7 s # =gnt At AW & dedt d GafRf@e suar o Rew w1
1. Fw F By # ASE [ WER # AT HHI0T 5T ¥ § AT AT
2. Ry TR WA & A4 S
3. Fidwy 3y &, FFees AR e F 5o Rl § Fie U W amiSe @ e s ud g
4. SRR T AT TR F SR O 7 e e e g
FR ffe v FfF ¥ Fua @@
Al
®oX e 1R 2
X2 FHaer 3 3R 4
V1, 23R 3

X4 Fge 2 3T 3

Question ID : 6009293791
Status : Not Answered
Chosen Option : --

Q.8 o= FEw ik sy ofess & w9y & e s @ fEw w1

1 ¢ 2019 #F waw Pew At R Tty F R 2030 SR F osmems & Shi b we o
2. FEEg TEE F T F ana 1 B R F 39 fee e atee S § #Eg T S
2005-2014 & SHIe e $r Hehel ©le 369 (GDP) # Sederar digar & 21% # & & &9 & Rwdr i

s Re v wE # ¥ S a8 v

Ans X1 Faer 2
X2 e 1
Xagart1aradr2
Vi1 3T 2 gt

Question ID : 6009293786
Status : Not Answered
Chosen Option : --

Q9 ggrzEt o1 Imfer TuEw - TRt F A F PrfaflE FvE w REw

1. I T F Ioo@ AR F WU F He[e0T 348 F TEA £
2. 7= e s @En s et F geE sua & gEee g
3. IR & WY F 3geoq 243 D # e F IRE0T F W F 3509 ¢

A T aTT i F ST W FE S I |
A o FEw 2 3R 3

X2 Fae 1

Mo a1 3t 2

X411, 233

Question ID : 6009293794
Status : Not Answered
Chosen Option : --
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Q.10 YR WU BT P1H-91 e, F3ee ta sifvard ara Rier sififam ar Rien &1
PR ARITTT (RTE) & d8d, YRd # 6 A 14 1A & Tl & forg f:37ep AR sifvard
e & AT B TUTHBAT BT qUi HaT 82

Ans X 1 3[Twa 35C
5 2. 3TBE 198
75 3. STWE 43 A
W 4 BT 21A

Question ID : 6009293784
Status : Answered
Chosen Option : 4

QM = | 3 g 1 F Breme S gRE A Re v S & 39 5 5@ SR T

-1 @) |- e e g R
A. fFre 1. JI FEA

B. #=fea 2. 91 Feag

C. gidr 3. Il T

D. efaw 4. Fu 9T

Ans 1 A-4, B-2, C-1, D-3
< 2 A2, B-1, C4, D-3
< 3 A-3, B-2, C-1, D-4
<4 A-1, B-4, C-3, D-2

Question ID : 6009293788
Status : Answered
Chosen Option : 1

Q12 s ey g & SO & SR & F IS U Hgeaqul Mg uTi
1.1915 & T 8 F O 9 T I F HiEa F FUK W AGH & @F T &9 20N 5
F 7= Ao $r g #i)
2.1916 &, a9 WK oS J T F 39 @F T T Hetea T
A R T FE F I FE FE Il
Ans X1 Faer 2
X 2 Faer 1
Xagart1aradr2

v 1 3k 2 @

Question ID : 6009293785
Status : Not Answered
Chosen Option : --
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Ans

Q13 figer yaa ¥ "oy § PeAfafEa wuar o T w1

1. 77 v v Iftmee & S s F fBRer g5 & S @ o we g
2. 38 9 JW@ S FHA § ST FE T G UF O O F AT A TH FAL A T FLA g
3. 39 T4 W I AT § FF [T F TH UK G S F FA (FAr) F I F

F9T BT 7T FuE # ¥ FF WS w9 887
X Fae 1

X2 Faa 3

X3 Fae 2

Vi1, 233

Question ID : 6009293787
Status : Not Answered
Chosen Option : --

Ans

Q14 - | 3 - 1l F e # gt & S Re e FE & s = wd s oo

-1 g |- e
A. FE-HTgaT 1. Fegur

B. gRwramer | 2. Regor

C. Teiefvi 3. 3rgen

D. fFaERaala | 4. AR

X 1. A-3, B-2, C-1, D4
v 2 A-4, B-3, C-1, D-2
X3 A2, B-1, C-4, D-3
X4 A-4, B-2, C-1, D-3

Question ID : 6009293790
Status : Answered
Chosen Option : 2

Q.15

Ans

Which of the following is a human factor responsible for soil erosion?

1. Deforestation
2. Run off water
3. Overgrazing

4. Glacial erosion

Select the correct answer using the codes given below.

v ' 1land3
<2 2and3
/X 3. 2 only
/< 4. 1 only

Question ID : 6009293793
Status : Not Answered
Chosen Option : --
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1§ 3R S el AT ST 87
Ans x 1.§r|ftc|\\—yn,wm
2% 2. faerft =, aftraerg
£5 3. T gL, BTG
f 4 S TEEa, sifgm

Q.16 g5 g5 W ify ! 31 o &) Faftd o33 & g anxfa si9 &1 AR 81 @R o199

Question ID : 6009293780
Status : Not Answered
Chosen Option : --

Q.17 g uda 99, Y F wry-ary 5w yRd 59 § fRa 82
Ans  of 1 fifdsH

5 2. 3H

25 3. 3T Uem

X 4. TR

Question ID : 6009293781
Status : Not Answered
Chosen Option : --

Q.18 fmfafad & & $19 Wt forare 3mR.&. AR gRT T8 foredt 718 <fi2
Ans X 1.3 ¥R sl e

/X 2.l ts e

o 3. ey faeg

7< 4.3 B8R 3 Ao

Question ID : 6009293776
Status : Not Answered
Chosen Option : ==

Q.19 5w w9 & WIROMET B ATHG: TSl Hel STl 82
Ans X 1 BRI

/< 2. s

W 3. oS

p R Eie

Question ID : 6009293778
Status : Answered
Chosen Option : 3
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Q.20 What can be the effects of noise pollution on human health?

Damage to the ear and temporary or permanent hearing loss often called 'a temporary threshold shift'
Irritability, anxiety and stress

Lowered worker efficiency and productivity

Loss of vision

e

Select the correct answer using the codes given below.

Ans o 1. 1,2 and 3 only
752 1,2, 3and 4
/%< 3. 3 and 4 only
/< 4 1 and 2 only

Question ID : 6009293792
Status : Answered
Chosen Option : 1

Section : Numerical aptitude

Q.1 9§ YAqH HHT DI ¥ BT HLT B A 3 B 7, 9 3R 11 | favve v W, 1a®
fRufa & SJwwa 2 AT 82

Ans & 1,600
o 2695
75 3.750
75 4,693

Question ID : 6009293809
Status : Answered
Chosen Option : 2

Q2 e 31 da &1 Ul ygia &wa 207 A2 g1 afe Sua Brsur 3.5 A1 @, oY 591
Sraad fpan 22

Ans 5 1 451 T
25 2. 363 T
5 3,418 9
of 4 3853

Question ID : 6009293807
Status : Answered
Chosen Option : 4

Q.3 gl & ¥ o9 91 $Y=T ag 82

1. T 19 YRT & 3Fd 6 T A Tard! 7 30 famft| afe a5 o1 & ufage 10 9 # 40 fft
Terd! 8, d) YRT B T 1 fpHEer {1

I1. T YEATIS] Pt T3aTs 1200 HieR §1 fE 98 TH 1500 Hex T& Wewid &I 120 AHvs A
UR PR bl §, Y Yerme! $t i 90 foreireer g1

Ans  off 1T
P ARG
X 3. Fad
5 4.

Question ID : 6009293806
Status : Answered

Chosen Option : 1
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Q4 fafafaa aiferer &1 aryde s $IRvT iR 39 a1g T T uy &1 3= i)
fafire o) # fpet ug & T To AP R # e ®e- ara enaffal 9t e ok 594

qhd g ard el o1 ufawrd|
d% | Iuftzar fit sufeafs | o oefleast w1 %
H 1500 14
| 2200 26
J 3000 17
K 980 20
I 1200 28
M | 2500 21
S K & T 9%d 8 311 aral SHIGaR] &) T@TT, 99 | % e 9% 78 311 ara
IHieaR! &Y & ST fpa-n ufa=rd 41 2
Ans X" 1 44
52,42
of 348
5 4.51

Question ID : 6009293804

Status : Not Answered

Chosen Option : --
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Q.5 & 7S afere oy e auf & Rl wwe-t g1 FAgea wdfval @t e &t gxifar 1

HITBT

2007 | 92 102 | 84 | 100 [ 95 98

2008 | 104 | 107 | 94 | 99 96 | 105

2000 | 96 | 119 | 93 | 102 | 98 | 103

2010 | 101 | 100 | 86 | S8 97 107

2011 85 117 | 84 | 103 | 102 | 99

2012 | 88 o7 | 89 | 100 | 103 | 102

TS P gRT frgad g T Seaial &t $a S o1 HHT: guTd 7T 82
Ans X" 1. 198: 208
% 2.208: 198
75 3.189: 209

o 4.209: 189

T 2010 3R 2012 H WS U gRT g b g wHamival @t oo we ok 561 a9l &

Question ID : 6009293800
Status : Answered
Chosen Option : 4

Q.6 frafifad & A fred ge ufowm siftread gifte
Ans X" 1. 3ifdhd e = 3200, [T el = 2800

< 2. 3ifFd I = 4000, fasa T4 = 3600
o 3. 3ifSd g = 2400, fasha 7T = 2000
5 4. 3ifpd e = 2800, facha 7w = 2400

Question ID : 6009293805
Status : Answered
Chosen Option : 3

Q7 fafafad # Q@1 0.12 & i Tu o) qfar 22
Ans X 1.3/50

75 2.3/100

W 3.325

25 4.12/1120

Question ID : 6009293812
Status : Answered
Chosen Option : 3
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Q.8 33, 4 Art 3R 5 et A ard FiF S Mt B fraar w7 T S ar g9 9, 9
et eara A fran ufasma &t st smrfie

Ans " 1. 12 gfa=id
o 2. 28 vfomra
25 3. 14 vfo=ia
5 4. 16 foRia

Question ID : 6009293799
Status : Answered
Chosen Option : 2

Q9 TP IR TS THUM W TS IATE 3941 31 IS I8 Iag & g e # 5 ufawa ot
HH FAT 8, A BT THA 4 ARG 9¢ W11 3| f5 THEH R I8 39T IS J°ar
272 (@ 3- ey Adean T 9@ uiifed §)
Ans X" 1. 40 UfaRid
% 2. 35 TfoRid
o 3.55.55 yfa=rd

75 4.63.63 Ufo=Id

Question ID : 6009293803
Status : Not Answered
Chosen Option : --

Q.10 TP THam &, P Q & 20% 3P 3 U f$T, Q 7 R A 20% B4 3 W fPT IR RAS
j&g%arfﬁmsimm%muﬁpﬁsooﬁﬁ4soaﬁmﬁ»‘qﬁ,aﬁs%ai$m
I

Ans  of 1 400
/5 2,425
75 3.520
5 4.450

Question ID : 6009293798
Status : Answered
Chosen Option : 1

Q.11 & & Frra # 10% 6 F FR0T #18 =wfda T 300 & 5 kg 30w @ @l wear & 9 kg 9=
& Fra F g w7

Ans  of 1. F6.00
X23575
X3 %650
X4 T525

Question ID : 6009293796
Status : Answered
Chosen Option : 1
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Q.12 T® gid 10 HieX wa, 2.5 HieX S 3R 4 Hiex i1 & RBrd 1.5 fiew x 1 fix d1 T
el 3R 1 #ieR x 0.50 Hiex @ 3 fEsfhai 81 12 =0l ufd of Hiey Ft @ A far 8k
B BI TS B B AR [ Do |

Ans  of 1 1200 =TT
/X 21330 TR
25 3. 1190 W
25 41230 F @

Question ID : 6009293813

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.13 gfg g YIS HBI3HT F T BT U 5 : 7 § 3R IThT UG 560 1 ITH § BT
e il

Ans  of 1 20
/< 2. 14
/5 3.28
5410

Question ID : 6009293795
Status : Answered
Chosen Option : 1

Q.14 gfe T 71 A 5 4 BT o aral 8 Mg, 12 R A vs s M aRa &, A Tw A H 4
e BT B arad 15 el fFrad i A s s aA d s it vu e &
PRI A FTH HA 81

Ans &1 123
2157
S 3.42f
4 8fA

Question ID : 6009293797
Status : Answered
Chosen Option : 4
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Q.15 ) fear g3 gu-aw et 3= & fpedt e o & fafte Qe W gu @ &t qufar @ |
T HI A T UfeT TUT P 916 AT 7T 0y &1 3« v

Mew B e TPt W fra-n ufawra siftrs @ gane
Ans X" 1 27 gfaRid

/X 2. 37,5 foRI
/< 3. 35 U=
o 4. 75 vfomra

Question ID : 6009293814
Status : Answered
Chosen Option : 4

Q.16 T aafdT U1 WIS A1 & T U gea # U1 398 A i A 3u-31u9 Hie= o ufa
iR 15 YA T ($T 3R T 7 Tt o8 aaferal & i T F ga-1 d 8 Iu 3ifts
T fpu | 371 g1 & f5ar A $a o= frae U1

Ans X' 1.953%00
K 2. 11740
5 3.101.2%0
o 4.99.6 %0

Question ID : 6009293801
Status : Answered
Chosen Option : 4

Q.17 HIfgH A TP guiv 313 50 FUY & WIS 3R 37 26 UA=d AT W 3471 YA 34S &7 faspa
T T 872
Ans X 1. 10 ¥UY

X 2.5%0T
o 3.525%7C
5 44300

Question ID : 6009293808
Status : Answered
Chosen Option : 3
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Q.18 g2 10 ufa=ra affer saTer % W rffa AreRor saTe, 5 99 & 3id o 1000 $UT &, &Y gaAu=
1 g1 91gu?

Ans  off 1 2000 ¥TT
£% 2.2500 ¥qT
£% 3.1000 %Y
£5 4.1500 3T

Question ID : 6009293810
Status : Answered
Chosen Option : 1

Q.19 3iwifer 3R g U udten & SufRua g1 swifer A Rg A 20 siw 4f¥re e fpg ok 3O
3 I9 Gl & P! & T BT 70 Ufawrd A1 3iwifer A fraq s wre fpu?

Ans X" 1 15
W 235
5 3.20
< 4.50

Question ID : 6009293811
Status : Answered
Chosen Option : 2

Q.20 T 3wt 18 frwfisier At Ry & 5 52 A N frft At gt T aRaT 81 AR T W g Y 3
e W 7 1 AT8dT §, al et i 7fy Jra Fnw

Ans X" 136 ffider
W 2. 30 forefireeT
5 3. 54 fprfirder
75 4. 24 frfirder

Question ID : 6009293802
Status : Answered
Chosen Option : 2

Section : Reasoning Logical aptitude

Q.1 i SMILE Y 19-13-9-12-5 F U A Fed &1 4T 7, @t LAUGH ! fhd 0 & peas
foar w2

Ans 5" 1 12.1-21.7-9
X 2.13-1-20-7-8
of 31212178
25 4.13-1-22-7-9

Question ID : 6009293822
Status : Answered
Chosen Option : 3
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Q.2 I NP HT T B ot Fufafad gear & srre | W et
o A

B

v
&2

&3

SEP

Question ID : 6009293825
Status : Answered
Chosen Option : 1
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Q3 ﬁ@;ﬁﬁmwimwé,ﬁﬁﬂvﬁwmﬁﬂimmm

KN

Z
AV 4

N
Z

N

Ans

K U

Question ID : 6009293817
Status : Answered
Chosen Option : 3

Q.4 T T A #Y S0 HH | FafRd B¢ o 8 & 3 Agd i § 1 F

1.MALISM
2.MAINED
3.MALAX
4.MARION
5.MANCES

Ans " 113524
75212354
o 3.23154
5432145

Question ID : 6009293820
Status : Answered
Chosen Option : 3
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Q5 ABCDEFiIRGamsmaarerimt i Basratarasr A CH A B 3
AFrzEr D | B Fr A/l (sisterinlaw) EF ER A FH FF Rar g & 6 & =77,
“H AU ShetdT SIS (niece) F &% T H 43071 I G F I ATE-gEA 74T &, AT I
Fas i & 919 = @

Ans 1O
X2F
X3 D
KA

Question ID : 6009293833
Status : Not Answered
Chosen Option : --

Q.6 9 fou 7T uy W O FYF R 3P a1¢ 39 FYI W MuUTRd $9 ey fgy e §1 few
T HYHI B TG AA, HA € S AR FU | 71 a2t A i adfid gha g1 I ey v
3R 5= Frufa #3 for few e #19 | fsed, fow 1T Hy=t &1 SR #3d €1

DY
L@s B P, x T B
s fiR, PSRl

. , I
:I%»—%xmp)(' RTE I

Ans B 1. Had B || STERU AT §
W 2. Faa FIp | SR FRaT R
25 3. Foreped | T 11 Y 1RO el B
75 4. ot e e e R B

Question ID : 6009293818
Status : Answered
Chosen Option : 2

Q.7 Flowers'is related to 'Bouquet’ in the same way 'Cattle’ is related to '
Ans & 1 Cow

x 2. Swarm
x 3. Gang
W 4. Herd

Question ID : 6009293815
Status : Answered
Chosen Option : 4
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Q.8  uw T F FATT AT FF F FFER A AT F T Y| AP (X) 37 0 B o E Ew
HS 7T FESH T FET T E| FF S IF I AFE (X) F AN T T T SEE TEE G
TRt 8l

|

Ans

X
®
®

X
©
©

°
2
©

X
@
@ Qe ol o ©

©

Question ID : 6009293834
Status : Answered
Chosen Option : 3

Q.9 fofafEd saa § g ue 7d o3
VYB, SVY, , MPS
Ans  of 1 psv

5 2.TRS
5 3.8TU
25 4.NOT

Question ID : 6009293832
Status : Answered
Chosen Option : 1
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Q.10 T 74T 3 IRW I BT B UWAT 1 STaT 8 S bAgH, S8 SR fge 99 fafir
e Hifsar &1 Sun #wd €1 fFa o1 a1 9 Bage a1 fgew a1 gl &1 IUTRT Hd
T SR ST STANT T} Hed &2

Ans X 1,240

W 2198
/5 3.300
5 4.250

Question ID : 6009293823
Status : Answered
Chosen Option : 2

Q.11 = oy g wefiexur &1 T U @ TE 991 & Rig a3 el $1 wReR geanr
7-3+?;sx4+2=25
Ans X 1+ 3R-
«Z.X\’:ﬁT—
X 3. x 3R+
4 xR -

Question ID : 6009293830
Status : Answered
Chosen Option : 2

Q.12 T gepH faar mar 8, R | e ug ad 31 e e fawenl # | 39 wad ug #) gl

82, 164, 492, 2450, 17220
Ans  of 1 2450

25 2,492
75 3.164
5 4.17220

Question ID : 6009293826
Status : Answered
Chosen Option : 1
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Q.13 gy § 9 oy fod M & oo a1¢ & frep 1 3R 11 2T 7w &1 foT 7T syl &t weg A
B, YA € 3 qrHT=aa: §1d at § s wdila 819 g, smus! fofg s @ i g e
ﬁwﬁﬁﬁaﬁq@rﬁw& Ife 15 g, FY= BT TRV FA F

DY:

PO YIS, a3
ﬁ%m uER TE B
IS gas, Ui 81 31

e
. PO 9ig, T &
II. T SIUER, a5 §

Ans X" 1. Fad fISHY | STERUI BT §
o 2.7 e | 7 € e 11 srERuT A €
5 3. bad ey |1 SFERu Bl §
75 4. g P | AT 11 SRR IRaT §

Question ID : 6009293827
Status : Answered
Chosen Option : 2

Q.14 I HrAfad & UG | UgA UgdT Afds TieraT & 91¢ ugdn| iy srafay & 39 3 uga
mﬁ%ﬁw%mﬁuﬁaﬁ%mwlm%?mmu@aﬁ%mmm
PIITd Ugdt | Ha Ugd SRITAd $IH Ugal?

Ans  of 1 1

X 2.5
25 3.
25 4. sqfer

Question ID : 6009293821
Status : Answered
Chosen Option : 1

Q.15 fHfafad sier J@ar o R HL:
HDF, GEE, FFD, EGC,
Ans  of 1 DHB

/< 2.DHC
/5 3.FHB
/5 4.FFB

Question ID : 6009293819
Status : Answered

Chosen Option : 1

Q.16 I UG BT 99 3, St FHafafaa yaar & SrTa AT U T |

P6Q,Q18T,R42W, S78Z, ?
Ans X" 1 P136U

o 2. T126C
/5 3.T128U
75 4. F121E

Question ID : 6009293816
Status : Answered
Chosen Option : 2
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Q.17 IR Srpfadl & fora w1 Y vy oropfa & AT T R 4 gU v & SMUR W =1} = S

AR

ain
X |O|&®|K
L]

Ans O
.8 5 0
X
52
L]
OJX
53
&
L7

v @
O

Question ID : 6009293824
Status : Answered
Chosen Option : 4

Q.18 ) R}y 7T Uy F $© FU 3R ITF 916 I FYAI W nuTha $© FHepd fdw 1w 81 fiw
T HYA B T T gY, HA § 3 [T Jia a A Fum welita 19 81 m@ah fred o
%f%ﬁﬁﬁhaaﬁﬁ?ﬁqwﬁqﬁﬁw&,ﬁqwﬁﬁmmﬁmwﬁm

|

DY
L X, Y&l
neE Wz xad el

s
LB X, ZT8 B
L.FBY,Z T8 8l

Ans 3 1 F1g 1 e sreRr TEY e §
5 2. Faq (Y | SR PR &
5 3. Fad ey 11 SgERu Hradl §
W 4. Freemd | qut 1 ST SR R @

Question ID : 6009293831
Status : Answered
Chosen Option : 4

26/32



2/24/2021

Q.19 fRd, FTRT, TR, AT 3R T TH S TR IS § 1 HTORT T & gIfg iR 381 R, <t s
et BR W T8 Fo1 B 1 dar St o 3R Afea & fiw o 3 31 S Twew w1 @ik
I3V & | PHRT & TS R BT 82

Ans X 1
25 2. dar
X 3.3
VeSS

Question ID : 6009293828
Status : Answered
Chosen Option : 4

Q.20 Y} RyeP wEd &1 7 BT Ryt HigT A U IR WU A T & | N ST RIFp1 9 F
e @ Ut fobrg a1 & e A go1 21 IR BT RygepT Mg & fygh A g, o
T4 YR Riah o1 A1 B 82

Ans x1_qﬁm
2.
K3
o 2 A

Question ID : 6009293829
Status : Answered
Chosen Option : 4

Section : English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

Neither my sister (1)/ and my brother is (2)/ interested in this project. (3)/ No error (4)
Ans X" 1. interested in this project

x 2. Neither my sister

J 3. and my brother is

x 4. No error

Question ID : 6009293838
Status : Answered
Chosen Option : 3
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Q.2 In the following question, there are six sentences marked S1, S6, P, Q, R, S. The
positions of S1 and S6 are fixed. You are required to choose one of the four
alternatives which would be the most logical sequence of the sentence in the passage.

S1. Visual recognition involves storing and retrieving of memories.

P. Psychologists of the Gastalt school maintain that objects are recognized as a whole
in a parallel procedure.

Q. Neural activity, triggered by the eye, forms an image in the brain’s memory system
that constitutes an internal representation on the viewed object.

R. Controversy surrounds the question of whether recognition is a single one-step
procedure or a serial step-by-step one.

S. When an object is encountered again, it is matched with its internal recognition and
thereby recognized.

S6. The internal representation is matched with the retinal image in single operation.

Ans X" 1 SRPQ

/5 2.QsRP

o 3.RPQS

/< 4.SQPR

Question ID : 6009293845

Status : Not Answered

Chosen Option : --

Q.3 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

Ans x 1. No error

x 2. Cadets applying for the Indian navy
x 3. must go through several

( 4. examination, interviews, and medical tests.

Question ID : 6009293835

Status : Answered

Chosen Option : 4

Q.4 Select the most appropriate antonym of the given word.

IMPERTURBABLE
Ans x 1. floral

x 2. halcyon
( 3. excitable
x 4. stoical

Question ID : 6009293851

Status : Not Answered

Chosen Option : --

Q.5 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required’ if the sentence is correct as given.

He did exceptionally well in his exams (because he had tutored all week).

Ans " 1. No correction required
x 2. as he had been tutoring all week
x 3. as he had tutored all week

( 4. as he had been tutored all week

Question ID : 6009293839

Status : Answered

Chosen Option : 3
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Q.6 Identify the segment in the sentence which contains a grammatical error.

Going by the number of people present, it was appearing that the seminar was a huge
success.

Ans 3" 1_that the seminar
x 2. was a huge success.
x 3. Going by the number of people present,

J 4. it was appearing

Question ID : 6009293836
Status : Answered
Chosen Option : 3

Q.7 Select the word that is closest in meaning (SYNONYM) to the word given below.
Vilification
Ans x 1. Assertion
( 2. Aspersion
x 3. Variation

x 4. Rectification

Question ID : 6009293854

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.8 Fill in the blank with the appropriate word.

They were fortunate enough to get a look at the mansion from the
inside in the poshest area of the city.

Ans ( 1. opulent

x 2. indolent

x 3. benevolent

x 4. insolent

Question ID : 6009293846
Status : Answered
Chosen Option : 1

Q.9 The sentence below has four parts (A, B, C, and D). One part has a grammatical error.
Identify the part.

The same set of the facts (A)/ can be tailored (B)/ to fit any (C)/ preconceived belief. (D)
Ans X" 1 can be tailored

x 2. to fit any

J 3. The same set of the facts

x 4. preconceived belief

Question ID : 6009293837
Status : Not Answered
Chosen Option : --
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Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. In case no substitution is needed, select 'No substitution required'.

There are some people who think they are God’s gift to mankind.

Ans x 1. whose thinking is that they were
x 2. which think they must have been
#% 3. that think they had been

( 4. No substitution required

Question ID : 6009293840
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate meaning of the given idiom.

"Loaves and fish"

Ans x 1. To act in a frenzied manner
x 2. To get someone drunk

x 3. Main support

( 4. Material interests

Question ID : 6009293849
Status : Answered
Chosen Option : 3

Q.12 Select the word that is closest in meaning (SYNONYM) to the word given below.

Banish
Ans  of 1 Deport

x 2. Accept
/5 3. Perish
x 4. Persist

Question ID : 6009293848
Status : Not Answered
Chosen Option : --

Q.13 Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. reacted collectively to nip this in the bud

B. that are far more stringent than

C. what we could have gotten away with had the world
D. today, we will need social isolation methods

Ans " 1 DCBA
/5 2.DACB
/5 3.DBAC

+ 4.0BCA

Question ID : 6009293844
Status : Answered
Chosen Option : 4
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Ans

with the correct spelling.
J 1. Irreverence

x 2. Irrevarance
x 3. Irreverance

x 4. Irrevarence

Q.14 Four words are given, out of which only one word is spelt correctly. Choose the word

Question ID : 6009293853
Status : Answered
Chosen Option : 3

Ans

A. that have seen a surge in interest in
B. is that of online education

C. one of the few pursuits

D. these otherwise trying times

/5 1.CBAD
W 2.cADB
/5 3.cABD
/5 4.CBDA

Q.15 Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

Question ID : 6009293843
Status : Answered
Chosen Option : 1

Q.16

Ans

Fill in the blank with the appropriate word.

Women have constantly been
driven society.

#< 1. arbitrated
5 2. liberated

J 3. relegated

x 4. serrated

to secondary positions in this men

Question ID : 6009293841
Status : Answered
Chosen Option : 1

Ans

Q.17 Select the word segment that substitutes (replaces) the bracketed word segment

correctly and completes the sentence meaningfully. Select the option 'no correction

required' if the sentence is correct as given.

(No sooner did we arrived) at the airport than we got into an argument with the cab

driver.

x 1. No correction required
x 2. No sooner had we arrive
( 3. No sooner did we arrive

x 4. No sooner than we arrived

Question ID : 6009293842
Status : Answered
Chosen Option : 3
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Q.18 Four words are given, out of which only one word is spelt correctly. Choose the word
with the correct spelling.

Ans 3" 1. Impudane
J 2. Impudent
X 3. Impuden
x 4. Impudant

Question ID : 6009293852
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate ‘'one word ' for the expressions given below.

Marriage outside one's tribe
Ans X" 1. Endogamy

X 2. Polygamy
( 3. Exogamy

x 4. Autogamy

Question ID : 6009293850
Status : Answered
Chosen Option : 3

Q.20 Choose the word that means the same as the given word.

Alien
Ans J 1. Foreign

75 2. Native
X 3. Local
x 4. Basic

Question ID : 6009293847
Status : Answered
Chosen Option : 1
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